BinomicTh

PO pe3yNbTaTH ONPAIIOBAHHS 3aIHTIB 100 HAJAaHH MyOutigHo1 iHQopManii B pallOHHUX AEp>KaBHUX aAMiHICTPAIisSX IpoTAroM cidas-cepras 2017 poky
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| |Bepasinchka 25 8 17 19 6 | 22| 3 1 2 1
2 |BinemManbka 20 7 13 9 7 4 20
3 |BacuaiBcbka 15 3 12 10 | 3 2 13| 2 2 2
4 |BeankoGisiozepchka 14 1 13 7 5 2 14
5 |BecexiBcbka 9 2 7 5 2 2 9
6 |BiabHsiHCBKA 57 48 9 50 4 3 53 4 1 3
7 |Dyasiiniabcbka 15 8 7 10| 2 3 13 2
8 |3amopi3zbka 15 4 11 11 3 1 14 1 1 1
9 |K-JAninpoBchbka 15 5 10 11 1 3 15
10 [MeaiTomonbchka 59 8 51 53 3 3 | 43| 16 7 16
11 |MuxaitgiBcbka 20 5 15 15| 4 1 17 | 3 3
12 [HoBomukoJaiBchKa 11 3 8 3 7 1 9 2
13 [OpixiBcbka 13 3 10 7 3 3 13
14 [IToJoriBcbka 14 3 11 10 4 14
15 |TIpua3oBchbka 13 5 8 6 4 3 12 1 1 1
16 [IIpumopcbka 15 4 11 4 8 3 15
17 |Po3iBchka 19 3 16 8 3 8 16 1 1 2 1
18 |Toxkmambka 14 3 11 8 2 4 13 1 1 1
19 [YepniriBchka 6 3 3 3 2 1 5 1 1
20 [SIxumiBcbka 16 8 8 9 4 3 15 1 1
BCHOTI'O: 385 134251 O 0 0 [258| 67 | 60 | 345| 38 15 2 34 1 0




